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COS U COS U
p(u,v) = | cosusinv (u,v) € (=5,%) x (—m,m)
sinu
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p(u,v) = cosue;(v) + sinues,

cosv —sinv d 0
e1(v) = [sinv |, es(v) = cosv | = d—el(v), es= 1|0
0 0 v 1
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EDOEH RIWCHLT, D=[0,7R] x [-m, 7] TEFI N 7zEHI#
I p(r,0) := Rt(sin 4 cosf,sin fsinf,cos ) EEZ 5.
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S(p) :=={p(p,0); —m =0 =},
D(p) :={p(r,0); 0=r<p,—m <0 <7}

rBE, S(p) OWMER L(p), D(p) OHEE A(p) £5L. =0
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T T
p(r,0) := Rsin Eel(H) + R cos e
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t U . U
p(u,v) = <a cos v cosh = a sin v cosh E,u)
TEDS. IEOE 5§ ITLT
S(0) :=A{p(d,v); —m Sv =7},

D) :={p(u,v); 0 Su<d,—m<v7}
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